

Original Article



Potential Drug-Drug Interactions in Patients Using Warfarin, Heparin, and Enoxaparin

Cengizhan Ceylan^{1*}, Rashida Muhammad Umar², Büşra Nur Çattık², Fatih Bolel², Mert Şahna², Emine Karataş Koçberber³

¹Department of Clinical Pharmacy, Faculty of Pharmacy, Selcuk University, Konya, Turkey

²Department of Clinical Pharmacy, School of Pharmacy, İstanbul Medipol University, İstanbul, Turkey

³Department of Clinical Pharmacy, Institute of Health Sciences, Marmara University, İstanbul, Turkey

Article history:

Received: 2 Nov. 2021

Accepted: 12 Dec. 2021

ePublished: 30 Dec. 2021

*Corresponding author:

Cengizhan Ceylan, Research Assistant, Selcuk University, Faculty of Pharmacy, Department of Clinical Pharmacy, Konya, Turkey, Tel: +90-3322417979
Email: c.ceylan20@gmail.com



Abstract

Background: Drug-drug interactions can often lead to preventable adverse drug events and hospitalization. However, the clinical outcome of a potential drug-drug interaction that may range from minor alterations to major toxicity or loss of effect is often unknown. Drugs with narrow therapeutic index are more susceptible to the outcomes of interactions. Anticoagulants are one of the drug groups prone to drug-drug interactions and have important side effects. In this retrospective study, the frequency of drug-drug interactions involving warfarin, heparin and enoxaparin was investigated.

Methods: Overall, 300 patients (including 55% males with an average age of 50.75 years) participated in this study, and for each anticoagulant, 100 patient orders were randomly selected from the hospital system. Drug-drug interactions were evaluated using the Micromedex drug interaction checker.

Results: A total of 1691 drug-drug interactions (306 major, 253 moderate, and 89 minor interactions) were recorded of which only 648 (average 2.16) involved warfarin, heparin, or enoxaparin. Most interactions were recorded in patients admitted to the cardiovascular surgery (n=312) and cardiology (n=119) wards. There was a significant relationship between the number of drugs and the frequency of interaction. warfarin had the highest number of interactions (n=388).

Conclusion: The frequency of drug interactions is high in patients on anticoagulant therapy. The efficacy and safety of these drugs can be affected by drug interactions. Accordingly, these interactions should always be considered, especially in patients with multiple drug use. Efficient monitoring strategies should be employed to optimize treatment while reducing adverse effects.

Keywords: Drug-drug interactions, Warfarin, Enoxaparin, Heparin

Please cite this article as follows: Ceylan C, Umar MR, Çattık BN, Bolel F, Şahna M, Koçberber EK. Potential drug-drug interactions in patients using warfarin, heparin, and enoxaparin. Avicenna J Pharm Res. 2021; 2(2):60-65. doi:10.34172/ajpr.2021.12

Introduction

Drug-drug interactions can mostly result in preventable adverse drug events. The clinical outcomes of a potential drug-drug interaction are often unknown, and epidemiological data are rare. The consequences of drug-drug interactions range from minor alterations to major toxicity or loss of effect. According to published studies, these interactions account for 1% of all hospitalizations and 16% of all patients hospitalized for adverse drug reactions (1-3). Based on evidence from a study conducted in the internal medicine service, 56.2% of patients were exposed to one or more major or intermediate potential drug-drug interactions (4). The use of multiple drugs for the treatment of diseases is quite common, especially in the elderly and other patients with multiple comorbidities.

The incidence of drug interactions is associated with the type of the applied drugs and the number of concurrently used drugs. Polypharmacy, which is defined as the routine use of five or more drugs, is a major factor that increases the likelihood of adverse drug reactions and drug-drug interactions, thus making therapeutic goals difficult to achieve (5-10). Not all drug-drug interactions are clinically significant. Most interactions go unnoticed because of the absence of new clinical symptoms, and some interactions are often indicated to worsen the already existing symptoms. A lack of knowledge, low motivation, and poor attitudes are attributed to the lack of documentation of interactions (6-10).

Anticoagulants are used for various indications. Warfarin can be applied for the prophylaxis and treatment



of thrombotic and embolic events; it reduces the risk of death, recurrent myocardial infarction, and stroke or systemic embolism after myocardial infarction. Parenteral anticoagulants heparin and enoxaparin also have similar indications (11).

Anticoagulant drugs are susceptible to various drug-drug interactions. These interactions are usually clinically significant as these drugs have narrow therapeutic windows (warfarin), need monitoring, and have serious side effects (12).

The aim of the study was to determine the frequency of potential drug-drug interactions in hospitalized patients treated with warfarin, heparin, and enoxaparin using the Micromedex online drug interaction checker.

Materials and Methods

This retrospective study was conducted at a university-affiliated teaching hospital. Adult patients receiving either warfarin, heparin, or enoxaparin were searched in the hospital system. A total of 300 different patients were included in the study. Each drug was searched in the hospital's online record system, and 100 patients' orders containing each drug and at least one other drug were selected at random. Patients' information, including age, ward, and medication orders, was obtained from the hospital data system. For each patient, one medication order containing at least one of the anticoagulants was assessed for drug interactions using the Micromedex drug interaction checker. Interactions were evaluated as contraindicated, major, moderate, and minor. The distribution of interactions was evaluated based on the total number of drugs in the order and the type of the anticoagulant. The number of drugs on the patients' orders was also assessed in terms of polypharmacy. Orders were categorized into normal (<5 drugs), polypharmacy (6-9 drugs), and hyperpolypharmacy (≥ 10 drugs) groups based on the number of drugs (5). The association between the number of drugs and the frequency of interactions was examined as well.

Statistical Analysis

All data were analyzed using SPSS (Statistical Package for Social Sciences), version 25.0. Continuous variables are expressed as the mean $\pm$ standard deviation; ordinal and nominal data are expressed as number (%). The Spearman's rank correlation test was used to analyze the correlation between interactions and patient groups based on the number of drugs in their orders (normal,

polypharmacy, and hyperpolypharmacy). A P value <0.05 within a confidence interval of 95% was considered statistically significant.

Ethics Committee Approval

The study was approved by the Istanbul Medipol University Non-Interventional Clinical Research Ethics Committee by decision number 10840098-604.01.01-E.1687.

Results

Adult patients who received warfarin, heparin, and/or enoxaparin were randomly selected from the hospital system. Demographic data and medication orders of 300 patients were recorded. Overall, 55% (167) of the patients were males with a mean age of 50.75 ± 25.57 . The mean age of female patients was 54.20 ± 25.80 . The selected patients were admitted to 25 different departments in the hospital; most of the patients were admitted to the cardiovascular surgery ward.

The average number of drugs used by the patients was 1.5 with a total of 440 drugs. One patient's order contained 33 drugs, which is the maximum number of drugs used in the study population. Seven patients' orders contained only two drugs. The majority (93.67%) of the patients were using more than five drugs. Based on the number of drugs in the patients' orders, 19, 123, and 158 patients were in the normal, polypharmacy, and hyperpolypharmacy groups, respectively.

Patients' orders were individually assessed for drug interactions using the Micromedex drug interaction checker. A total of 1691 drug interactions were identified with an average of 5.64 interactions per patient. The frequency of interactions increased with the number of drugs ($P < 0.001$). There were 18 contraindicated, 818 major, 766 moderate, and 89 minor interactions. Each type of drug interaction was correlated with the groups based on the number of medications (Table 1).

The distribution of identified interactions based on hospital departments was evaluated, and most contraindications were recorded in patients admitted to the cardiology ward. More interactions were recorded in patients admitted to the cardiovascular surgery ward with an average of 10.68 interactions per patient; more precisely, 598 drug interactions were recorded in 56 patients in this ward. Two of these interactions were contraindicated 273, 283, and 40 of them were major, moderate, and minor interactions, respectively. Data on the distribution of

Table 1. Correlation Between Number of Drugs and Interactions

Medication Order Groups (Number of patients)	Total Interactions	Contraindicated Interactions	Major Interactions	Moderate Interactions	Minor Interactions
Normal (n=19)	40	0	20	18	2
Polypharmacy (n=123)	206	1	94	103	8
Hyperpolypharmacy (n=158)	1445	17	704	645	79
Total (n=300)	1691	18	818	766	89
P value	< 0.001	< 0.006	< 0.001	< 0.001	< 0.001

Table 2. Distribution of Total Drug Interactions Among Wards and Their Severity

Ward	No. of Patient	Severity of Interaction				Total	Average Interaction
		Contraindicated	Major	Moderate	Minor		
Anesthesia and Reanimation	41	1	77	81	18	177	4.317
Brain and Nerve Surgery	1	0	1	2	0	3	3
Cardiology	43	7	162	173	14	356	8.279
Cardiovascular Surgery	56	2	273	283	40	598	10.678
Chest Diseases	2	0	1	2	1	4	2
Gastroenterology	1	0	2	5	0	7	7
General Surgery	14	0	26	5	0	31	2.214
Gynecology and Obstetrics	3	0	8	2	0	10	3.333
Hematology	12	4	41	15	1	61	5.083
Infectious Diseases and Clinical Microbiology	2	0	0	0	0	0	0
Internal Disease	15	0	39	33	0	72	4.8
Medical Oncology	14	2	36	18	0	56	4
Nephrology	3	0	2	3	0	5	1.667
Neurology	14	0	10	29	1	40	2.857
Newborn	23	0	25	19	10	54	2.347
Organ Transplantation	12	0	18	8	0	26	2.167
Orthopedics and Traumatology	12	0	20	33	0	53	4.417
Pediatric Cardiology	3	0	3	3	0	6	2
Pediatric Chest Diseases	1	0	0	0	0	0	0
Pediatric Hematology and Oncology	8	1	8	10	2	21	2.625
Pediatrics	9	1	43	25	1	70	7.778
Physical Medicine and Rehabilitation	3	0	9	8	0	17	5.667
Radiology	1	0	3	0	0	3	3
Thoracic Surgery	6	0	11	9	1	21	3,5
Urology	1	0	0	0	0	0	0
Total	300	18	818	766	89	1691	5.64

interactions are provided in Table 2.

Out of the total 1691 recorded drug interactions, only 648 involved the anticoagulants of interest. Overall, 306, 253, and 89 major, moderate, and minor interactions were recorded, respectively. There were no contraindicated interactions. Based on the results, 388, 114, and 148 interactions were recorded for warfarin, heparin, and enoxaparin, respectively. Of the total 648 interactions, 312, 119, 51, and 40 were recorded in the cardiovascular surgery, cardiology, anesthesia and reanimation, and internal medicine wards, respectively. In drug orders from the cardiovascular surgery department, 68 major and 135 moderate, as well as 46 major and 25 moderate interactions were recorded for warfarin and heparin, respectively. In addition, 37 major interactions and 1 moderate interaction were recorded for enoxaparin. Table 3 provides the distribution of these interactions based on wards. Enoxaparin and warfarin combination was used in 42 patients, representing the highest number of major interactions. Warfarin-tramadol interaction was the most (n=33) recorded moderate interaction. The frequencies of major and moderate interactions are

presented in Tables 4 and 5, respectively.

Discussion

Drug-drug interactions are frequent and considered a major concern for both clinicians and patients. The risk of interactions increases with increase in the number of concurrently used drugs. Polypharmacy is an independent factor that increases the risk of interactions and contributes to adverse drug reactions and treatment complications (5). Based on the findings, a higher number of interactions was recorded in medication orders containing more than ten medications. Multiple uses of drugs are unavoidable in some situations, especially in patients with comorbidities.

Anticoagulants have been associated with high incidences of drug interactions. In this study, most interactions were recorded for warfarin, while heparin had the least number of interactions. In a prospective study conducted on 133 patients using warfarin, 428 warfarin-related drug interactions were recorded (13). In the current study, a similar number of warfarin-related interactions was recorded in the warfarin group. Drug interactions resulting in changes in the efficacy of warfarin can be tracked with changes in the international normalized ratio (INR) values. McDonald et al reviewed the rate of warfarin

Table 3. Distribution and Severity of Drug Interactions Involving Anticoagulants

Ward	Warfarin		Heparin		Enoxaparin		Total
	Major	Moderate	Major	Moderate	Major	Moderate	
Anesthesia and Reanimation	9	15	5	1	12	0	51
Brain and Nerve Surgery	1	2	0	0	0	0	3
Cardiology	24	49	8	2	22	0	119
Cardiovascular Surgery	48	131	38	6	37	1	312
Gastroenterology	1	4	0	0	0	0	5
General Surgery	0	0	1	0	7	0	8
Gynecology and Obstetrics	1	1	0	0	3	0	5
Hematology	3	0	4	0	5	0	15
Internal Medicine	14	12	1	0	9	0	40
Medical Oncology	0	0	1	1	7	1	11
Nephrology	1	1	1	0	2	0	5
Neurology	4	15	1	0	3	0	26
Newborn	0	0	2	0	0	0	9
Organ Transplantation	2	3	2	0	5	0	15
Orthopedics and Traumatology	1	5	0	0	8	0	14
Paediatric Cardiology	1	2	1	0	2	0	7
Pediatric Hematology and Oncology	0	0	0	0	0	0	2
Pediatrics	0	0	1	0	0	0	2
Physical Medicine and Rehabilitation	1	1	0	0	3	0	7
Radiology	0	0	1	0	0	0	2
Thoracic Surgery	0	0	0	0	3	0	3
Total	111	241	67	10	128	2	661

interactions in 3129 patients and recorded abnormal INR values in 230 patients with warfarin-amiodarone interactions (14). We also recorded a good number of warfarin-amiodarone interactions (n=18), but we did not review the INR values of our patients as it was not part of our objective.

Khurram et al evaluated the risk of bleeding associated with the use of warfarin in 107 postoperative patients receiving dual antiplatelet therapy (aspirin + clopidogrel). They revealed a significant increase in the risk of major and minor bleeding associated with warfarin use (15). Warfarin, aspirin, and clopidogrel are the most commonly used drugs in patients with heart diseases. In our study, warfarin was frequently and occasionally used with aspirin and clopidogrel, respectively. It should be noted that the risk of bleeding will increase with concurrent use.

In a case report, Recker and Kier found an increase in the warfarin effect with an acute elevation in the INR from 2.1 to 16.8 after a 14-day clarithromycin regimen (16), highlighting the extent and importance of antibiotic-altered vitamin K synthesis. We recorded seven warfarin-clarithromycin interactions. A close follow-up is required when antibiotics known to affect vitamin K production are prescribed to patients using warfarin.

The concurrent use of two or more anticoagulants increases the risk of bleeding, but concurrent use is reported in some situations. Heparin and enoxaparin are

usually used for bridging anticoagulation when warfarin therapy is initiated until is achieved the INR target (17,18). The administration of low-molecular-weight heparin for 5-10 days, as a bridging anticoagulation therapy with warfarin, in the treatment of deep vein thromboembolism is reported to be safe and efficient in comparison to conventional anticoagulation (19,20). We recorded the use of these combinations in 71 patients, the majority of whom were admitted to the cardiovascular surgery ward. These combinations are typically prescribed for patients with cardiovascular interventions, which is in line with our results. We assume that these combinations were appropriately administered in line with the guidelines. Nevertheless, it can be mentioned that the clinical and laboratory monitoring of symptoms is necessary when concurrent use is unavoidable and/or indicated.

In our study, warfarin had the highest number of interactions (60.5%). Heparin and enoxaparin are not orally used anticoagulants; therefore, they cannot be desired alternatives to warfarin. Parenteral administration of heparin and enoxaparin affects patients' compliance with treatment. The direct thrombin inhibitor (i.e., dabigatran) and direct factor Xa inhibitors (i.e., apixaban, betrixaban, edoxaban, and rivaroxaban) are newer oral anticoagulants with fewer drug-drug interaction potentials. These drugs can be better alternatives for patients who are at risk of drug interactions (11,17).

Table 4. List and Frequency of Recorded Major Interactions

Interacting drug	Enoxaparin	Heparin	Warfarin
Alprostadil		2	
Alteplase	1		
Alteplase		1	
Amiodarone HCl			18
Amoxicillin/clavulanic acid			1
Ampicillin/sulbactam sodium			1
Aspirin		22	24
Bemiparin sodium	1	1	1
Carbidopa/entacapone/levodopa			1
Ceftazidime			2
Ciprofloxacin			1
Citalopram	2	1	
Clarithromycin			7
Clopidogrel	12	5	4
Diclofenac	15	3	2
Dipyron (Metamizole)			17
Escitalopram	2	4	3
Fluoxetine		1	
Heparin	26		0
Ketoprofen	4	1	
Levofloxacin			2
Linezolid			1
Metamizole	8	17	
Metronidazole			3
Miconazole			1
Moxifloxacin			3
Nepafenac	1	1	
Orlistat		2	
Oseltamivir Phosphate			2
Paroxetine HCl			1
Penicillin G Potassium			1
Piperacillin/tazobaktam sodium			6
Piracetam	3	3	3
Piroxicam		1	
Prasugrel	2		
Sertraline	1	2	2
Tenoxicam	8		2
Valproic acid			1
Venlafaxine			1
Warfarin	42		
Total	128	67	111

Conclusion

In this study, we recorded relatively important drug interactions involving the most frequently used anticoagulants. These interactions involve other medications commonly used in patients with indications that necessitate anticoagulant use. These interactions can affect the efficacy and safety of these drugs. To optimize

Table 5. Frequency of Recorded Moderate Interactions

Interacting Drug	Enoxaparin	Heparin	Warfarin
Duloxetine HCl	1	1	
Vitamin A		1	
Perindopril		1	
Captopril		1	
Ascorbic acid/folic acid		6	
Calcium gluconate	1		
Ceftriaxone sodium			15
Acetaminophen (Paracetamol)			23
Lactulose			6
Pantoprazole sodium			24
Cefazoline sodium			30
Ranitidine HCl			31
Tramadol HCl			33
Esomeprazole magnesium			12
Hydrochlorothiazide/spironolactone			12
Cefoperazone sodium			1
Levothyroxine sodium			6
Lansoprazole			3
Dexamethasone			3
Quetiapine fumarate			1
Rosuvastatin calcium			2
Tigecycline			1
Vancomycin HCl			1
Glimepiride			1
Propafenone HCl			2
Rifampin			1
Propranolol			1
Prednisolone			2
Ezetimibe			1
Heparin			29
Total	2	10	241

therapy drug interactions should always be considered in patients receiving anticoagulant therapy, especially patients with multiple comorbidities. Eventually, efficient monitoring strategies should be employed to optimize treatment while reducing adverse effects.

Conflict of Interests

The authors report no conflict of interests.

References

1. Ayvaz S, Horn J, Hassanzadeh O, Zhu Q, Stan J, Tatonetti NP, et al. Toward a complete dataset of drug-drug interaction information from publicly available sources. *J Biomed Inform.* 2015;55:206-17. doi: [10.1016/j.jbi.2015.04.006](https://doi.org/10.1016/j.jbi.2015.04.006).
2. Edwards IR, Aronson JK. Adverse drug reactions: definitions, diagnosis, and management. *Lancet.* 2000;356(9237):1255-9. doi: [10.1016/S0140-6736\(00\)02799-9](https://doi.org/10.1016/S0140-6736(00)02799-9).
3. Magro L, Moretti U, Leone R. Epidemiology and characteristics of adverse drug reactions caused by drug-drug interactions. *Expert Opin Drug Saf.* 2012;11(1):83-94. doi:

- 10.1517/14740338.2012.631910.
4. Vonbach P, Dubied A, Krähenbühl S, Beer JH. Prevalence of drug-drug interactions at hospital entry and during hospital stay of patients in internal medicine. *Eur J Intern Med.* 2008;19(6):413-20. doi: [10.1016/j.ejim.2007.12.002](https://doi.org/10.1016/j.ejim.2007.12.002).
 5. Masnoon N, Shakib S, Kalisch-Ellett L, Caughey GE. What is polypharmacy? A systematic review of definitions. *BMC Geriatr.* 2017;17(1):230. doi: [10.1186/s12877-017-0621-2](https://doi.org/10.1186/s12877-017-0621-2).
 6. Mateti UV, Lalwani T, Nagappa AN, Bhandary PV, Verupaksha D, Balkrishnan R. Assessment of drug-related problems in depressive patients. *Perspect Clin Res.* 2015;6(1):58-61. doi: [10.4103/2229-3485.148820](https://doi.org/10.4103/2229-3485.148820).
 7. Kapp PA, Klop AC, Jenkins LS. Drug interactions in primary health care in the George subdistrict, South Africa: a cross-sectional study. *S Afr Fam Pract.* 2013;55(1):78-84. doi: [10.1080/20786204.2013.10874307](https://doi.org/10.1080/20786204.2013.10874307).
 8. Das S, Behera SK, Xavier AS, Dharanipragada S, Selvarajan S. Are drug-drug interactions a real clinical concern? *Perspect Clin Res.* 2019;10(2):62-6. doi: [10.4103/picr.PICR_55_18](https://doi.org/10.4103/picr.PICR_55_18).
 9. Tesfaye ZT, Nedi T. Potential drug-drug interactions in inpatients treated at the Internal Medicine ward of Tikur Anbessa Specialized Hospital. *Drug Healthc Patient Saf.* 2017;9:71-6. doi: [10.2147/dhps.s126336](https://doi.org/10.2147/dhps.s126336).
 10. Lopez-Picazo JJ, Ruiz JC, Sanchez JF, Ariza A, Aguilera B, Lazaro D, et al. Prevalence and typology of potential drug interactions occurring in primary care patients. *Eur J Gen Pract.* 2010;16(2):92-9. doi: [10.3109/13814788.2010.481709](https://doi.org/10.3109/13814788.2010.481709).
 11. DeWald TA, Washam JB, Becker RC. Anticoagulants: pharmacokinetics, mechanisms of action, and indications. *Neurosurg Clin N Am.* 2018;29(4):503-15. doi: [10.1016/j.nec.2018.06.003](https://doi.org/10.1016/j.nec.2018.06.003).
 12. Di Minno A, Frigerio B, Spadarella G, Ravani A, Sansaro D, Amato M, et al. Old and new oral anticoagulants: food, herbal medicines and drug interactions. *Blood Rev.* 2017;31(4):193-203. doi: [10.1016/j.blre.2017.02.001](https://doi.org/10.1016/j.blre.2017.02.001).
 13. Teklay G, Shiferaw N, Legesse B, Bekele ML. Drug-drug interactions and risk of bleeding among inpatients on warfarin therapy: a prospective observational study. *Thromb J.* 2014;12:20. doi: [10.1186/1477-9560-12-20](https://doi.org/10.1186/1477-9560-12-20).
 14. McDonald MG, Au NT, Wittkowsky AK, Rettie AE. Warfarin-amiodarone drug-drug interactions: determination of [I] (u)/K(I,u) for amiodarone and its plasma metabolites. *Clin Pharmacol Ther.* 2012;91(4):709-17. doi: [10.1038/clpt.2011.283](https://doi.org/10.1038/clpt.2011.283).
 15. Khurram Z, Chou E, Minutello R, Bergman G, Parikh M, Naidu S, et al. Combination therapy with aspirin, clopidogrel and warfarin following coronary stenting is associated with a significant risk of bleeding. *J Invasive Cardiol.* 2006;18(4):162-4.
 16. Recker MW, Kier KL. Potential interaction between clarithromycin and warfarin. *Ann Pharmacother.* 1997;31(9):996-8. doi: [10.1177/106002809703100907](https://doi.org/10.1177/106002809703100907).
 17. Wigle P, Hein B, Bloomfield HE, Tubb M, Doherty M. Updated guidelines on outpatient anticoagulation. *Am Fam Physician.* 2013;87(8):556-66.
 18. Douketis JD, Spyropoulos AC, Kaatz S, Becker RC, Caprini JA, Dunn AS, et al. Perioperative bridging anticoagulation in patients with atrial fibrillation. *N Engl J Med.* 2015;373(9):823-33. doi: [10.1056/NEJMoa1501035](https://doi.org/10.1056/NEJMoa1501035).
 19. Kurtoglu M, Koksoy C, Hasan E, Akcalı Y, Karabay O, Filizcan U. Long-term efficacy and safety of once-daily enoxaparin plus warfarin for the outpatient ambulatory treatment of lower-limb deep vein thrombosis in the TROMBOTEK trial. *J Vasc Surg.* 2010;52(5):1262-70. doi: [10.1016/j.jvs.2010.06.070](https://doi.org/10.1016/j.jvs.2010.06.070).
 20. BRIDGE Study Investigators. Bridging anticoagulation: is it needed when warfarin is interrupted around the time of a surgery or procedure? *Circulation.* 2012;125(12):e496-8. doi: [10.1161/circulationaha.111.084517](https://doi.org/10.1161/circulationaha.111.084517).